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1. BEEROL
() #BEINEE
BEINEE 0 5,000,000 0 5,000,000
AGHEIRA 0 3,000,000 0 3,000,000
3F—IRA 0 2,000,000 0 2,000,000
ZHMAHES 2,000,000 0 0 2,000,000
BERIRA 2,000,000 0 0 2,000,000
ZmEHETE 1,500,000 0 1,000,000 2,500,000
HELIA 500,000 0 0 500,000
ZmEfTE 1,000,000 0 1,000,000 2,000,000
HEUR 2% 0 0 10 10
ZIWFE 0 0 10 10
BEIAEEt 3,500,000 5,000,000 1,000,000 9,500,000
(2)EEEHR
BxE 4,500,000 3,400,000 0 7,900,000
HBHFY 2,000,000 1,000,000 3,000,000
BN o 1,000,000 0 1,000,000
EEZERY 100,000 0 100,000
RiGH 200,000 1,000,000 1,200,000
RERHEE 100,000 300,000 400,000
ZEEERH 0 50,000 50,000
HER 0 600,000 600,000
REREE 200,000 0 200,000
BIEERIZ 150,000 300,000 450,000
L& 100,000 0 100,000
BB 100,000 100,000 200,000
B 500,000 500,000
FARAE 50,000 50,000 100,000
EHE 0 0
% B R 0 0
feMFLY 500,000 500,000
REZEBE 100,000 100,000
RIEFRIE 100,000 100,000
oL & 50,000 50,000
SEE 100,000 100,000
HERE 50,000 50,000
B 50,000 50,000
HE 50,000 50,000
BEERH 4,500,000 3,400,000 1,000,000 8,900,000
SRR SRR LR RS A 1,000,000 1,600,000 0 600,000
BEE M T MmERES 0
Bk Ea=y 0 0 0 0
LERRREIREEAR A 1,000,000 1,600,000 0 600,000
2. BESMEHOE
(1) #BE S IREE
BES RS 0 0 0 0
(2)BENER
BENER 0 0 0
LR E S MERAE 0 0 0
fth = EHIREE4E 800,000 A 800,000 0
L H — % 1F bR BA EE 1 R AR A 200,000 800,000 0 0
—RERIEHERS 500,000 500,000 500,000 1,500,000
—RRIERKEAEE R R IR S 300,000 1,300,000 500,000 2,100,000
I $5EERKREEEBOSE
ZWEME 0
SZHFIR 0
— R IERIAE~DIREEE 0
2 115 7E 1E bR BA EE LA R AR 0 0 0 0
EEERMEHEES 0 0
REEREA EHIRTE D 0 0 0 0
I ERBIEHRES 300,000 1,300,000 500,000 2,100,000




